01-6 DO0O0O0OOOOOOO

RGOS EA (FEPER Y 72D)
20004E | 20054 | 20104
)] Mcal/t 87 147 216
A Mcal/t 47 35 40
#e- LT Meal/t 70 127 196
Ak Mecal/t 288 570 1,170
TV — HIR (10°9kcal)
20004E | 20054 | 20104
foeiil 8,279 14,026] 20,879 [ LY X 25
AV 3,862 2,827 3,312 | s FT BT X A PE
e LS 2,138 4,100 6,624 | Il JsSTHLNT X A pE &
AfbS: 2,213 4,065 7,793 [ BT AT X 7 o
2. SERBREWT o SR IZ L Dm0 — T 2% U R R
20004E | 20054 [ 20104
i) 1079kcal -557 -125 2,659
AR 10 9keal -335 16 1,742
AV 10 9kcal 105 407 886
Al 10"9kcal 202 4,643 14,683
S B 10 9keal ~863 2,147 -3,216
R 10"9kcal -80 150 896
| £l 10 9kcal 528 1,485 2,468
fiih 10 9kcal 1,465 4,302 7,639
ZOfth s 10 9kcal 213 -622]  -1,108
| MoK P 10 9kcal 0 0 0
S 10"9kcal 0 0 0
jinied 10 9kcal 0 0 0
3. SRR IS LM A R
(kcal#/R)
20004E | 20054 | 20104
ol 10"9kcal 420 1,302 2,443
A 10 9kcal 240 743 1,395
A 10 9kcal 0 0 0] 1kWh=860kcalifa i
AfbS: 10"9kcal 0 0 0
oY A 10 9kcal 592 1,835 3,445
PP 10"9kcal 56 174 327
|t 10°9keal 368 1,141 2,141
BEYTY 10 9kcal 1,007 3,124 5,863
ZOfth s 10"9kcal 146 452 848
| MK P 3 10 9kcal 0 0 0
i 10 9kcal 0 0 0
jifie 10 9kcal 0 0 0
(kWhZ&/R)
20004E | 20054 | 20104
ol GWh 488 1,513 2,841
A b GWh 279 864 1,622
A GWh 0 0 0]  1kWh=860kcalifa i
AfbE: GWh 0 0 0
oY A GWh 688 2,134 4,006
A A ) GWh 65 203 380
Einia GWh 428 1,327 2,490
Aidh GWh 1,171 3,632 6,818
Z O GWh 169 525 986
| MK P GWh 0 0 0
S GWh 0 0 0
jifie GWh 0 0 0
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LY =T DR E
19904 20004F 20054F 20104
WY =T (MEr—A) 31% 31% 31% 31% 0FEEHDEFHER
Y =7 G —A) 31% 31% 31% 31% 90EFEARMH DO FFHERS
B TRICE AT R — IR AT (1990 DI 232 D kL A - [ iEr—A)
[ r—A 19904 20004F 20054F 20104
TR — UL a— AT 325 325 325 325|Mcal/t 1990 E D HALAS
PRk TR 559 559 559 559|Mcal/t EDEE
B LR 3,245 3,245 3,245 3,245|Mcal/t —F2-2
HihA TR 160 160 160 160|Mcal/t
—IRILSE 496 496 496 496|Mcal/t
—RJEAE 353 353 353 353 |Mcal/t
O TR 544 544 544 544|Mcal/t
AU 1,625 1,625 1,625 1,625[Mecal/t
SREMEAR 4,424 4,424 4,424 4,424 Mcal/t
* GREHSE R OIFHN = BN UAD TROITHAOAF X (1 —Eliy =7) + i QRN X By =7

B LRI AT 1L — AT (R RSB A S o4 & - Bl — )

Fhmir—2 19904F 20004F 20054 2010

TV — AT aO— AT 325 283 243 210|Mcal/t #2207 =4I
JEfd TR 559 550 548 541|Mecal/t *20ORT HUCIE E
TR 3,245 3,241 3,237 3,226|Mcal/t
HihA TR 160 110 85 60| Mcal/t
—WJESE 496 486 478 468|Mcal/t
IRJEAE 353 350 346 340|Mcal/t
LD TR 544 544 544 544|Mcal/t
AU 1,625 1,608 1,600 1,583 |Mecal/t
SREMEAR 4,424 4,337 4,278 4,208|Mcal/t

* SRRZE AR DI = B SO TROBRE ORF X (1 =Ml =7) + B QA X Ef s =7

*2

# LRROT RV —H B AL = {4 TROT 3L — B A — 3 (TR OE T R FURALX (FEEOE AL —9OFEAE)) }

XPERTREOLSE  + 2 G TREEOT 7LX — MR FHAL X 5 TREO b F)

B TRRICH DT TV — 2 i 7 R
19904F 20004F 20054 20104
TRV — AT = A TR 0 42 82 115|Mecal/t [i] 7 A — A S (57
Bikd TR 0 9 11 18|Mcal/t — FHI S — A AT
T TR 0 4 8 19[Mcal/t
HRE TR 0 50 75 100|Mecal/t
—IRJESE 0 11 18 29|Mecal/t
WRJESE 0 3 8 14|Mcal/t
oAt TR 0 0 0 0[Mcal/t
R 0 17 25 42 [Mcal/t
SO A 1A 0 87 147 216|Mcal/t




